Measurements and Calculations

A 1,200-kilogram car traveling at 10 meters

o per second hits a tree and is brought to rest
in 0.10 second. What is the magnitude of
the avaraga force acting on the car”’
bring.it éa=esll
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A spring scale reads 20 newtons as it pulls
a 5.0-kilogram mass across a table. What
is the magnitude of the force exerted by

tH s the spring scale?
A 49N
B 20N
C 50N
D 40N

e A vector makes an angle,0, with the
horizontal. The horizontal and vertical
components of the vector will be equal
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Projectile A is launched horizontally at a
speed of 20 meters per second from the top
of a cliff and strikes a level surface below,
3.0 seconds later. Projectile Bis launched
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the printable version of this worksheet
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weight of the astronaut 6.37 x 106 meters
above the surface of Earth?
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e Whai.| leracie power-deyeloped-by:
a motorae it lifte.a A00-KIlogram mass at
constant speed through a vertical distance
of 10.0 meters in 8.0 seconds?

A 320W

B 500 W

C 4,900 W
D 32,000 W
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joules. Approximately how high will the ball

rise? [Neglect air resistance.]
A Lo e AR s o)
B m
c el

|

[faldeutex um puclpds hag amassof
1.53 x 103 universal mass units less
than its components, this mass
represents an energy of

A 1.38 MeV
B 1.42 MeV
C 1.53 MeV
D 3.16 MeV
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